

$\alpha: \beta, \mu\beta \rightarrow P: \mu\beta^2 = \frac{\mu}{\mu} \Rightarrow \beta^2 = \frac{\mu}{\mu} \Rightarrow \beta = \pm \frac{\mu}{\mu}$       $\delta: \beta, \mu\beta, \mu\beta$   
 $B: \frac{\mu}{\mu} \Rightarrow \delta: \mu\beta, \frac{1}{\mu}, \frac{\alpha}{\mu} \Rightarrow \alpha = 1$   
 $\beta: \frac{-\mu}{\mu} \Rightarrow \delta: \mu\beta, \frac{-1}{\mu}, \frac{\alpha}{\mu} \Rightarrow \alpha = -1$

$1 - (-1) = 14$  ✓

$\omega \frac{1}{\mu}, \alpha, \beta \rightarrow P: \alpha\beta, \frac{1}{\mu} \rightarrow \frac{1}{\sqrt{\alpha}} + \frac{1}{\sqrt{\beta}} = \omega$   
 $\Rightarrow \frac{\sqrt{\alpha} + \sqrt{\beta}}{\sqrt{\alpha\beta}} = \frac{\sqrt{\alpha} + \sqrt{\beta}}{\sqrt{\frac{1}{\mu}}} = \omega \Rightarrow \sqrt{\alpha} + \sqrt{\beta} = \frac{\omega}{\mu} \xrightarrow{\text{مربع}} \alpha + \beta + 2\sqrt{\alpha\beta} = \frac{\omega^2}{\mu^2}$   
 $\rightarrow \alpha + \beta = \frac{13}{\mu^2} \rightarrow \delta: \frac{m+12}{\mu^2} = \frac{13}{\mu^2} \Rightarrow m = -1$

$\begin{cases} -\alpha^2 + 3\alpha + 2 = 0 \\ P: \frac{2}{-1} = -2 \end{cases}$  ✓

$\Rightarrow \begin{cases} \mu\alpha^2 + k\alpha^2 - 9\alpha - 2 = 0 \\ \mu\beta^2 + k\beta^2 - 9\beta - 2 = 0 \end{cases} \xrightarrow{\text{جمع}} \mu(\alpha^2 + \beta^2) + k(\alpha^2 + \beta^2) - 9(\alpha + \beta) - 4 = 0$   
 $\Rightarrow \mu(V) + k(\omega) - 9 - 2 = 0 \Rightarrow 2\mu + 2k - 13 = 0 \Rightarrow 2k = -1\omega$   
 $k = -\frac{\omega}{2}$

$\delta: \alpha + \beta = -4 \rightarrow \beta = -4 - \alpha$   
 $\mu\alpha^2 + 2(\beta^2 - 2\mu) = \alpha^2 + 2(\mu^2 - 2\alpha\beta) \xrightarrow{\beta = -4 - \alpha} \alpha^2 + 2\mu^2 + 4\mu\alpha + 2\alpha^2 = \omega\alpha^2 + 2\mu\alpha + 2\mu^2 = 12\sqrt{2} + 18$   
 $\Rightarrow \omega\alpha^2 + 2\mu\alpha - 12\sqrt{2} - 18 = 0 \rightarrow \alpha = \frac{-2\mu \pm (2\mu^2 + 9\sqrt{2})}{\omega}$   
 $\beta = -4 - \left(\frac{-2\mu - 9\sqrt{2}}{\omega}\right) = -1 + \frac{3\sqrt{2}}{\omega}$   
 $\rightarrow P: \alpha \rightarrow \alpha = \alpha\beta = \left(\frac{-2\mu - 9\sqrt{2}}{\omega}\right) \left(-1 + \frac{3\sqrt{2}}{\omega}\right) = \frac{10\sqrt{2} - 9\sqrt{2}}{2\omega}$

$\alpha^2 = t \rightarrow t^2 - \sqrt{t} - \omega = 0 \Rightarrow t = \frac{\sqrt{t} \pm \sqrt{4\omega}}{2}$   
 $\rightarrow \alpha_1 = \frac{\sqrt{t} + \sqrt{4\omega}}{2} \rightarrow \delta: \sqrt{\frac{\sqrt{t} + \sqrt{4\omega}}{2}} \sqrt{\frac{\sqrt{t} + \sqrt{4\omega}}{2}} = 0$   
 $P: \left(\sqrt{\frac{\sqrt{t} + \sqrt{4\omega}}{2}}\right) \left(\sqrt{\frac{\sqrt{t} + \sqrt{4\omega}}{2}}\right) = -(\sqrt{t} + \sqrt{4\omega})$   
 $\rightarrow 2P^2 - \mu\delta P + 2\delta \Rightarrow 2P^2 = 2\left(-\frac{\sqrt{t} + \sqrt{4\omega}}{2}\right)^2 = 2\left(\frac{11\omega + 14\sqrt{4\omega}}{\mu}\right) = \omega\omega + \sqrt{4\omega}$  ✓

1.  $\alpha + \beta = 1 \Rightarrow \alpha + \beta + 1 = 2 \Rightarrow \frac{\alpha}{\gamma} = \frac{2}{\gamma} \Rightarrow \alpha = 1$

2.  $\alpha, \beta \rightarrow \rho: \alpha + \beta = \frac{-a}{\rho a}, \frac{-1}{\rho}, \rho = \alpha\beta = -3$

3.  $(\alpha + \beta)(\alpha + \beta) = \alpha^2 + \beta^2 + 2\alpha\beta = \alpha^2 + \beta^2 - 6 = -3 \Rightarrow \alpha^2 + \beta^2 = 3$

$\Rightarrow \frac{b}{\gamma} = -3 \Rightarrow b = -9$

$\rightarrow \left[ \frac{1}{\gamma}, \frac{-9}{\gamma} \right], \left[ \frac{-9}{\gamma} \right], \left[ -1, 2 \right] = -3$

$\rho = \alpha + \beta = \frac{a}{a} = 1 \rightarrow \alpha + \beta = 1 \rightarrow \beta = 1 - \alpha$

$\rho: \beta^2 + \gamma \alpha^2 - 2\beta = 1 \Rightarrow (1-\alpha)^2 + \gamma \alpha^2 - 2(1-\alpha) = 1$

$\rightarrow \gamma \alpha^2 - 2\alpha + 1 = 0 \rightarrow \alpha = \frac{2 \pm \sqrt{4 - 4\gamma}}{2\gamma} = \frac{1 \pm \sqrt{1-\gamma}}{\gamma}$

$\alpha = \frac{1 + \sqrt{1-\gamma}}{\gamma}, \beta = 1 - \alpha = \frac{1 - \sqrt{1-\gamma}}{\gamma}$

$\alpha = \frac{1 - \sqrt{1-\gamma}}{\gamma}, \beta = 1 - \alpha = \frac{1 + \sqrt{1-\gamma}}{\gamma}$

$\Rightarrow |\alpha - \beta| = \left| \frac{2\sqrt{1-\gamma}}{\gamma} \right| = \frac{2\sqrt{1-\gamma}}{\gamma}$

1.  $\beta, \beta^2 \Rightarrow \beta + 2 - \beta = 2 \Rightarrow \frac{\sqrt{a}}{|\alpha|} = 2 \Rightarrow \sqrt{a + \beta - 2\alpha} = \sqrt{(a - \beta)^2} \Rightarrow |\alpha - 1| = 2$

$\rightarrow \alpha - 1 = \pm 2 \rightarrow \begin{cases} \alpha = 3 \\ \alpha = -1 \end{cases}$

$\Rightarrow \rho, \frac{a}{1} = 3$

$a^2 - (3a + 1)a + b = 0 \Rightarrow a^2 - 3a - a + b = 0 \Rightarrow a^2 - 4a + b = 0$

$\rightarrow 3b = 9 \Rightarrow b = 3 \Rightarrow \rho, \frac{b}{1} = 3 \Rightarrow 2f - 3 = 3$

$\alpha^2 + \beta^2 = \rho^2 - 2\rho \Rightarrow \rho = \frac{-b}{a}, \frac{-1}{1} = -1, \rho = \frac{c}{a}, \frac{-1 - m^2}{1} = -1 - m^2$

$\min \rho^2 - 2\rho = 1 - 2(-1 - m^2) \rightarrow 1 - 2(-1) = 3$

$\rho: \frac{-a + \gamma}{\gamma}, \frac{-2}{\gamma} = -1, \rho = 1 \Rightarrow \rho = a(\alpha + 1) + 1$

$\Rightarrow \rho = a\alpha^2 + 2a\alpha + a + 1 \Rightarrow \rho = \frac{-2a}{a} = -2, \rho = \frac{a+1}{a}$

$\alpha^2 + \beta^2 = \rho^2 - 2\rho = 4 - 2\left(\frac{a+1}{a}\right) = 2 \Rightarrow \frac{-1}{\gamma} = \frac{a+1}{a} \Rightarrow -a = \gamma a + \gamma \Rightarrow a = \frac{-\gamma}{\gamma}$

$\Rightarrow \rho = -\frac{2}{\gamma} \alpha^2 - \frac{2}{\gamma} \alpha + \frac{1}{\gamma} \Rightarrow \rho = \frac{1}{\gamma}$

$$S = -4 \quad \rho = a$$

$$\alpha > \beta = \frac{-4 \pm \sqrt{16 - 4a}}{2} \quad \alpha < \beta \rightarrow \alpha = -2 - \sqrt{4 - a}$$

$$\alpha^r + r(\alpha^r + \beta^r) = \alpha^r + r(S^r - r\rho)$$

$$(-2 - \sqrt{4 - a})^r + r(16 - 4a) = 12\sqrt{r} + 12a \rightarrow a = 1$$